2-1

2-1-1
€Y
25 46 23 7,000m*/s
16 23
2.1.1
mm (m3/s)
ha
29
25 393 | ( 9,000) [129] [537] |[1,564] | [3,825]
36 16 561 6,200 2 2 6 24 134 164
43 29 397 5,700 10 117 908
45 21 384 6,500 9 10 2 22
46 30 483 7,300 23 1 92 86 95
50 23 612 7,600 1 91 41 266
51 12 723 4,400 17 6 2 54
54 30 311 6,000 16 1 10 3 106
62 10 17 370 5,000 19 3 17
19 568 7,100 19 36 74
10 398 5,900 2 21
17 448 6,000 19 6 33 299
10 22 247 4,100 19 298 71
15 563 6,900 10 4 40 150
16 400 5,300 10 6 5 12 111
16 10 20 448 8,100 23 107 93 165
D
25
2) 25
3) [ 1



25

31
400 500mm
9,000m*/s
129 537 1,564 3,825
25
46
30 300 600mm
7,300m*/s
92

86 95ha

46
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16 10
10 19
10 20 300mm
300 500mm 0.8m
8,100m*/s

67 79
130ha 40
14 35ha

16 10 20

16 10 20
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2

40 11
2.1.2
mm mi/s
ha
23
31 26 287 500) 15
34 26 265 430) 15
40 14 419 740 [642] [2,224] | [1,449]
47 308 590 128 440 553
47 16 191 400 20 31 315 191
19 326 490 19 3 34 209
11 362 440 2 10 6
10 16 287 670 39 128 714
10 22 242 610 47 145 29
11 29 362 770 48 194 215
16 10 20 236 650 23 5 76 69
1)
2)
3) ] 23 24
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40

24 13
800mm
740m*/s
14 19 3.60m
6.35m
23 24 642
2,224 1,449ha

40 14
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29
104mm 242mm
13
3.9 4.05
14 6.19
cm 770m*/s
48 194 215ha
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1)

900

1400

1580

— RECRDER

1771 1870
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1690

1788

594 1,070 1,000 1,800
130 230

1830 1844
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32

10
14
12
km
km

8,500m*/s
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23 27

20
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|
[ ]
8,500 —» 8,500 —»
(O©)
v
— o \
N
! m3/s
2.1.3 14
4)
25
9,000m%/s
28
9,000m*/s 500m®/s
8,500m/s
12.0k
28 16.4k 37 17 .5k
41
350
42 43
36 46 23

49
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1/100

11,200m%/s
2,200m*/s 9,000m/s
14
700m%/s 40 24
700m®/s
43
43 44
46 48
63
1/100 1,300m%/s
|
8,500 8,500
9,000 > 9,000
(O©)
v
— o \\\\*
N
! m3/s
2.1.4 28
| |
9,000 9,000
11,200 > 11,200 >
)
- ‘ | ‘
1,300 ——>
m3/s
2.1.5 63



5)

310m
310m 11
16
15 17
10 11
11
11
14
50
11,200m%/s
9,300m/s

40
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10

13

18

11

46

1,300m*/s

62



9,300
11,200

4
6‘00

1,300 ——>

m3/s

2.1.6 18
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2

1)
24
500m*/s
5,400m/s
222.8
25 10
27
26 11

12
9,000m*/s
8,500m*/s
6,400m*/s 1,000m%/s
470 md
36
36
43
45 48
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46

48
53
60
| |
—> 8,500 —>
- m*/s
2.1.7 48
u m
—_— > 1,500 — >
m*/s
2.1.8 53
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3)

700m*/s 31
2,000m 40
700m®/s 44
900m*/s
63
1,300m%/s
10 11
11
u
—> 700 —_—
m*/s
2.1.9 31
| ]
I {E
420 420 —> 540 —> 650 —> 700 750 —> 800 —> 900
m®/s
2.1.10 44
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16 23
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94.5%
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10.0
H.W_L.8.823m @
10k/0
8.0 8k/0 8/1 15:45
11K/0 8/1 14:40
8/1 6:50
5k/8 120
8/1 15:45
6.0 [ 14k/0
8/1 4:20
5.00m
4.0 ¢ : 3K/6
™ 3.50m = 8/1 17:45 N
/4 80 3k/6 100 I
8/1 855 8/1 12:45 |
| 7k/8
2.0 ! aK/6 8/1 13:55 !
) ' 8/1 13:20 |
! !
le i N
L L L L L L L L
0-0 6 12 18 0 6 12 18 0
7 31 ‘ 8 1 8 2
2.1.16 16 10
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EHRK BROMEE
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16 10

16 10
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1,096 m®
6,400m*/s 1,000m*/s 5,400m*/s
20 15
600m®/s
6,000
(=]
5,000 8
4,000
%3,000
2,000
1,000
0
2.1.20
61 17 20 10
2.1.3
2.238km?
EL 225.0m
538.9km2 EL 225.0m
494 . 3km? 44 _6km? EL 195.0m
30.0m
5,427.8 m
85.5m 4,349.7 mw
200.7m 529.4 m?
4.5m 1,096 m®
283,000m? 1,096 m?
EL 142.0m
EL 227.5m 3,590,219
EL 210.5m 25 10
31
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16 10

4)
4-1)

11
11

11
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4-2)

46

4-3)

4-4)

4-5)

4-6)
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1,350m

3,400



16 10

11
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23

40 50

12

2.1.4

12
28 50

30 40

43 _3km

27 .5km

15.8km
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S20 S40 H1 H10
2.1.21
2.1.5
18 30
2k/0-020 H2.3
12k/6-030 S50.3
13k/6+000 H17.3
13k/6+010 S47.3
2k/8+025 S42.3
3k/6+000 S47.3
6k/2-092 H15.3
7k/6-067 S46.3
7k/6-057 S28.12
8k/6+040 H15.1
12k/6-050 H2.10
13k/6-053
5k/2-055
6k/2-092 H15.3
7k/6+078
8k/6+040 H15.1
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m

3

2.1.6

36

30

43

27
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70
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60

50 |
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10 |
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2-2
2-2-1

1,150ha 4,900ha

27

158,300kW

(m¥/s)

20.573

10

12.943

17

33.516

0.001

5.969

210.600

- 50 -

3,750ha




hEFs YL (mEE) il (e EEE YL (mEEES
= i L Y A ~ W E T » i i R ET 1q.-f" s

LRl R el 20
L R ol (1 g LE L EE S ]

" Sanin aglitA A

|
ERCRo i 1l|a-; N
r'."l.ﬂl‘i"!'.l’-:‘_‘l.ﬂ""* % i
kﬁ T e -c"\-r.-'.?HD#J- \'"'."\-\\_I
\ / [EEZIERT S 4
o e i' 0
1'_-' m““ }=ﬁh

A¥OFL (ERE BfEEER NosL uunm [fi=l 4 {]
v LM MR R LR S TR ] (L WA T
= [ B | MR .
war | mom | mox | 0w [neman| |papse | BESRIRLRE I RIRE | vane
L T e IR # ¥ VB0 |
o #a | =8, b Tl e | a8 8 e | Ty
] u W | EEJI ! LI 2, M .1
LR s & 5 |lzwari H=1% Gim Tt i =0 W sy 1T.9m
\ B 3 i 5,497 e 2,000 | 6 :
TR N ot i H =, B A um | B0 i il | 108 85
o W L] i 11 MK |
i i | i BEET L e | Pal i iy | 2w
; i = n0d I m W, 700 | 14,3
CEfsY L L | TF=F &L [T=315m ot P S i 'l I Ten
B RO LY LR S SRR AL A i 8 18s DEE | Bl &
RS P TRS = i ki 'y
2.2.2

- 51 -



2-2-2

&Y
38 15 32
20.2m%/s 12.0m%/s
529.4
m? 2.8 1,500 md 17
20
]
536 H16 10
200 l, 1,600
160 S51 17 JI -
140 I ™ 114 1,200
120 ] eagete st | 1,000
100 — 800
,./ 290 A 3
80 oz 4t —
o P g P . O 2. JP. PR + igg
40 A W QD)
20 —ﬂ | . { 200
0 Lo ol 0
BB S53088B888T22383¢
2.2.3
A
® 3,500 md
=
~ | 5,427.8 m
(2]
& | o
< |~
4,349.7 S
o e Y _ EL 195.0 _
548.7 m o
% © *
- = 1,503.3
2.2.4 2.2.5

17

- 52 -



17

38 17 43
15
1/7
2.2.2
1 |2 [3 |4 [5 [6 [7 [8 |9
| 80 50
| 100 30
20 63
n | 10 10
| 20 60
- 17 10
14
10 20
m| 2 14
30 59
11
20 %
12
n ™ 15 17
80 25
13 !
- 66 25
" | 30 22
™ - 30 22
10 4
16 !
i 10 4
100 113
17 [ [ [ [
# ﬁ 100 113
20
68.5
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1)

0.5mg/L 75
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mg/L

BOD75

mg/L

BOD75

mg/L

BOD75

mg/L

BOD75

mg/L

BOD75

2.0

1.0

0.0

5.0

4.0

3.0

2.0

1.0

0.0

5.0

4.0

3.0

20

1.0

0.0

5.0

4.0

30

2.0

1.0

0.0

6.0
50
4.0
3.0
20
1.0
0.0

S58 S59 S60 S61 S62 S63 H1 H2 H3 H4 H5 H6 H7 H8 H9 H10 H11 H12 H13 H14 H15 H16

| —o— — A

A,

S58 S59 S60 S61 S62 S63 H1 H2 H3 H4 H5 H6 H7 H8 H9 H10 H11 H12 H13 H14 H15 H16

| —— — B

X __ /Q\m
\\/\V%Mv%

S58 S59 S60 S61 S62 S63 H1 H2 H3 H4 H5 H6 H7 H8 H9 H10 H11 H12 H13 H14 H15 H16

B

GM/\\»WV&

S58 S59 S60 S61 S62 S63 H1I H2 H3 H4 H5 H6 H7 H8 H9 H10 H11 H12 H13 H14 H15 H16

2.2.8 75 mg/L
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200 m
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2-3
€9)
1)

RDB

RDB
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RDB

RDB
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RDB

8.4k

- 60 -

RDB

RDB




4)
1,000
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2.3.1

)
9 12 15
133 65 30
74 58 63
36 18 51
73 186 340
316 326 484
27 24 26
83 60 106
158 144 161
48 97 192
316 326 484
9 15
. o ot
134
43y
11%
11% 56% 18%
70%
23%
15 o% 5%
30% 18% 22%
40%
26%
50% 33%
2.3.1
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